
CHAPTER 1

General Pharmacologic Principles

ANSWERS TO CHAPTER REVIEW QUESTIONS

1.
c  The fact that it is capitalized confirms that it is a trade name.

2.
c  Pharmacokinetics involves all these processes that happen with a drug when it is administered.

3.
e  All these factors could explain the confusion.

4.
d  Protein binding, fat, and water solubility all affect how a drug will be distributed within the body.

5.
1––b

2––c

3––e

4––d

5––a

6.
The half-life (T1/2) is the amount of time it takes for the concentration of a drug to decrease by half once administered within the body. Half-life is used to determine when a drug has reached its steady state and maximum concentration in the body.

7.
a. Home care patient with severe nausea––Rectal

b. Rapid onset needed in emergency––IV

c. Patient is NPO––Rectal, IV, or IM

d. Chronic respiratory inflammatory disease that requires corticosteriods that have many systemic effects––Inhalation 
e. Executive smoker trying to quit and needs nicotine replacement––Transdermal

8.
pH is one factor that influences the bioavailability of a drug. Most drugs are weak acids or bases, and their ionization depends on pH. Drugs in the non-ionized form are absorbed through membranes, whereas ionized drugs are not. pH is different in the various parts of the gastrointestinal tract, and drugs that are more in the non-ionized form in low pHs, such as aspirin, are better absorbed in the more acidic stomach.

9.
Agonists have affinity for a receptor and cause a response. Antagonists have affinity but do not activate the receptor and thus can block agonists.

10.
Phase 1––Healthy human volunteers

Phase 2––People with the disease for whom the drug is expected to work

Phase 3––Large multicenter trials

Phase 4––Postmarketing surveillance

11.
Additive is two active drugs combined to have an effect equal to the total of the two individual drugs; the mathematical statement for this is 1 + 1 = 2. Synergism is two active drugs given together that have an effect greater than their sum effects; the mathematical statement for this is 1 + 1 = 3. With potentiation, one drug is active and the other has no effect, but when given with the active drug, the other drug increases the effect of the active drug more than expected; the mathematical statement for this is 1 + 0 = 3.

12.
A drug allergy induces a hypersensitive reaction and is just one example of an ADR. Other examples of ADRs are headaches, tremors, and palpitations.
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